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L ) Suppose X~ P) and the cmd;f:rona[ distvibution of quen X
Y[X ~BUX, p), Find the merginal density of v,
(2) Let X and Y be independently uaiformly distvibuted on (0, 1),
Let U= X/Y\. Find the density function of U,

2, Let (X, Y) have ;om?f dens;fv-Funcimn

{ X
—F(x,\;)z — _n. y fg")( r9ﬂ (m—-m) ,

n~x-~y

X=0,1,2, - ", \/:0,1,,'24- <, X+Y 4N,

W Find the MLE b of e,
@ Find Vi (8).

3 Let Xi,, Xz,.--' be a seguence of Indepenc!enf vondom vayiables
with X un.'-FoY‘mf)/ distyibuted on the in'fe}’va/ (0,1),
Let Un= ':nf,.x $and Waz=n(l-Ug).

W Find VaplUa)e .~ |

{2) Fnd the [im :'tmg c{usfr:}ou’tuon O'F Wn
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4. let X;{,’--;X,, be {ndependent'ly identically distyibuted with X:

o< o<l

hmf:‘ng dens:ty FFCX; g)= © (i-E)x} X=0, LA, "

) Fiad the lower hound for the variance of an unbiased estimator
of ¢,

(2) Find the best unbiased estimator of ‘—é‘"

é—. () S'(Iafe fhe /Ve,ymanh PeavSon theorem,
(@) Let X be a discrete yandom vayiable with density fLix;e)

given in the 'Fo!fowing. table:

X o I 2 3 4 5

£x30) 0,05 XYy o/ 5,/ 4R 05

fexsny § o o158 o2k ol o025 ol

Find the most powerful size« o.1 test for fes?f‘a'ng that 6z0 against &,

6. Let X+, Xn _be tadependent, with Xi~ V(i 8),
W Find o ]OPU—O‘)% confidence interval for 8.
0) Find the UMP size - test for testing Ho: 8=/ agamst
Hi6>1, If ozo05, n24, X,23, X,=2, X3=24] and Xy<-2,
do You accept oy reject the nul/ﬁyloofﬁesis with this test T
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